12:26:13 8/18/2015	Public Improvement Assessment R R	Roll by Address Project: Ratification Date: Resolut		nt: 145203	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Richard L Baron 323 Summit Ave	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL NELY 40 FT OF LOT 7	Brick Pavers	100.00	100.00	\$10,000.00	01-28-23-13-0009
St Paul MN 55102-2119 *101 FARRINGTON ST *Ward: 1 *Pending as of: 1/15/2014	AND ALL OF LOT 6 BLK 73	*** Owner and Taxpayer ***			ψ10,000.00	
Federal National Mortgage Assoc 14221 Dallas Pkwy Ste 1000 Dallas TX 75254-2916 *107 FARRINGTON ST *Ward: 1 *Pending as of: 1/15/2014	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL N 59 FT OF LOT 5 AND EX W 53 5/10 FT THE S 7 FT OF N 66 FT OF LOT 5 BLK 73	Brick Pavers *** Owner and Taxpayer ***	100.00	32.00	\$3,200.00 \$3,200.00	01-28-23-13-0007
Patricia Hampl Terrence J Williams 286 Laurel Ave St Paul MN 55102-2122 *286 LAUREL AVE *Ward: 1 *Pending as of: 1/15/2014	STEVENS REARRANGEMENT OF LOTS 1 12 AND 13 ETC THE E 23.7 FT OF W 120.07 FT AS MEASURED ALONG THE N LINE OF LOT 1 BLK 72	Brick Pavers *** Owner and Taxpayer ***	100.00	27.00	\$2,700.00 \$2,700.00	01-28-23-12-0165
Lori A Belair 288 Laurel Ave Unit 1 St Paul MN 55102-2106 *288 LAUREL AVE 1 *Ward: 1 *Pending as of: 1/15/2014	COMMON INTEREST COMMUNITY NUMBER 315 BROWNSTONE BAY CONDOMINIUM UNIT NO.1	Brick Pavers *** Owner and Taxpayer ***	100.00	8.83	\$883.00 \$883.00	01-28-23-12-0203
Tara Fahey 288 Laurel Ave #2 St Paul MN 55102-2106 *288 LAUREL AVE 2	COMMON INTEREST COMMUNITY NUMBER 315 BROWNSTONE BAY CONDOMINIUM UNIT NO.2	Brick Pavers *** Owner and Taxpayer ***	100.00	8.83	\$883.00 \$883.00	01-28-23-12-0204

*Pending as of: 1/15/2014

StPaul_Assessment_Roll_Assessment_by_Address

12:26:13 8/18/2015	Public Improvement Assessment	·	ct: 19153 Assn ution #:	nt: 145203	Manager: LM	Page 2
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Douglas P Phillips Amy M Muse 288 Laurel Ave Unit 3 St Paul MN 55102-2106 *288 LAUREL AVE 3 *Ward: 1 *Pending as of: 1/15/2014	COMMON INTEREST COMMUNITY NUMBER 315 BROWNSTONE BAY CONDOMINIUM UNIT NO.3	Brick Pavers *** Owner and Taxpayer **	*	8.83	\$883.00 \$883.00	01-28-23-12-0205
Jaime E Hoffman Trustee 290 Laurel Ave Unit 1 Saint Paul MN 55102-2106 *290 LAUREL AVE 1 *Ward: 1 *Pending as of: 1/15/2014	UNIT 1	Brick Pavers *** Owner and Taxpayer **	100.00	13.50	\$1,350.00 \$1,350.00	01-28-23-12-0293
Darrel Edward Videen 290 Laurel Ave Apt 2 Saint Paul MN 55102-2980 *290 LAUREL AVE 2 *Ward: 1 *Pending as of: 1/15/2014	UNIT 2	Brick Pavers *** Owner and Taxpayer **	100.00	13.50	\$1,350.00 \$1,350.00	01-28-23-12-0294
Darrel Edward Videen 290 Laurel Ave Apt 2 Saint Paul MN 55102-2980 *290 LAUREL AVE 3	UNIT 3	Brick Pavers *** Owner and Taxpayer **	100.00	13.50	\$1,350.00 \$1,350.00	01-28-23-12-0295

*290 LAUREL AVE 3

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessment R	•	Project: 191 Resolution #		nt: 145203	Manager: LM	Page 3
Owner or Taxpayer	Property Description	Item Description	<u>I</u>	Jnit Rate	Quantity	Charge Amts	Property ID
Clarence R Fitz Donna L Fitz Trustee 292 Laurel Ave St Paul MN 55102-2123 *292 LAUREL AVE *Ward: 1 *Pending as of: 1/15/2014	STEVENS REARRANGEMENT OF LOTS 1 12 AND 13 ETC BEG ON N LINE OF LOT 1 AT A POINT 25.27 FT E OF NW COR TH CONT E 23.7 FT, TH S C DEG, 24 MIN, 24SEC W 112.07 FT, TH S 81DEG, 52MIN, 9 SEC W 16.32 FT, TH N		ver ***	100.00	13.00	\$1,300.00 \$1,300.00	01-28-23-12-0168
Christine H Carragee 3900 4th Ave S Minneapolis MN 55409-1615 *297 MAIDEN LN *Ward: 1 *Pending as of: 1/15/2014	STEVENS REARRANGEMENT OF LOTS 1 12 AND 13 ETC BEG AT SW COR OF LOT 1, TH N ALONG W LINE OF LOT 1 FOR 26.8 FT, TH N 89 DEG, 56 MIN 6 SEC E 31.89FT, TH S PAR TO THE W LINE 22.28 FT TO THE SLY LINE OF		yer ***	100.00	25.00	\$2,500.00 \$2,500.00	01-28-23-12-0170
Judith Schlick Pryor Trustee 315 Maiden Ln Saint Paul MN 55102-2109 *315 MAIDEN LN *Ward: 1 *Pending as of: 1/15/2014	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL S 20 FT OF LOT 3 AND ALL OF LOT 4 BLK 72	Brick Pavers *** Owner and Taxpay	ver ***	100.00	87.00	\$8,700.00 \$8,700.00	01-28-23-13-0004
Timothy Grady Catherine Allan 333 Maiden Ln Saint Paul MN 55102-2109 *333 MAIDEN LN	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL EX N 66 FT LOT 5 AND THE S 7 FT OF W 53 5/10 FT OF SD N 66 FT OF LOT 5 BLK 73		yer ***	100.00	65.00	\$6,500.00 \$6,500.00	01-28-23-13-0008

12:26:13 8/18/2015	Public Improvement Assessment R R	Roll by Address Project: Ratification Date: Resolution		nt: 145203	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Gtr Properties Llc 392 Mississippi River Blvd Saint Paul MN 55104-4927 *123 NINA ST *Ward: 1 *Pending as of: 1/15/2014	STEVENS REARRANGEMENT OF LOTS 1 12 AND 13 ETC SUBJ TO ESMTS; BEG AT NE COR OF LOT 1 TH SELY ON ELY L OF LOT 1 TO SE COR OF SD LOT TH SWLY ON SELY L OF SD LOT 66.64 FT TH N ODG 24MN 24SC	Brick Pavers *** Owner and Taxpayer ***	100.00	40.00	\$4,000.00 \$4,000.00	01-28-23-12-0164
Patricia Ann Frattallone 285 Summit Ave St Paul MN 55102-2118 *285 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	H. M. RICE'S REARRANGEMENT OF LOT 1, 7, 8, 9 AND 10 OF BLOCK 72 OF DAYTON AND IRVINE'S ADDITION LOT 11 BLK 72	Brick Pavers *** Owner and Taxpayer ***	100.00	85.00	\$8,500.00 \$8,500.00	01-28-23-13-0001
Colleen Staton 148 Green Island Rd Savannah GA 31411-1206 *295 SUMMIT AVE 1 *Ward: 1 *Pending as of: 1/15/2014	Unit No.1	Brick Pavers *** Owner and Taxpayer ***	100.00	25.00	\$2,500.00 \$2,500.00	01-28-23-13-0292
Colleen Staton 148 Green Island Rd Savannah GA 31411-1206 *295 SUMMIT AVE 2 *Ward: 1 *Pending as of: 1/15/2014	Unit No.2	Brick Pavers *** Owner and Taxpayer ***	100.00	25.00	\$2,500.00 \$2,500.00	01-28-23-13-0293
Christine S Huelster 295 Summit Ave Unit 3 Saint Paul MN 55102-2172 *295 SUMMIT AVE 3 *Ward: 1 *Pending as of: 1/15/2014	Unit No.3	Brick Pavers *** Owner and Taxpayer ***	100.00	25.00	\$2,500.00 \$2,500.00	01-28-23-13-0294

ESCROW

12:26:13 8/18/2015	Public Improvement Assessment R R	coll by Address Project: attification Date: Resoluti		it: 145203	Manager: LM	Page 5
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Germanic-american Institute 301 Summit Ave St Paul MN 55102-2118 *301 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	H. M. RICE'S REARRANGEMENT OF LOT 1, 7, 8, 9 AND 10 OF BLOCK 72 OF DAYTON AND IRVINE'S ADDITION LOTS 5 AND 6 BLK 72 DAYTON AND IRVINES ADD AND IN SD H M RICES RE LOTS 7 AND LOT 8 BLK 72	Brick Pavers *** Owner and Taxpayer ***	100.00	220.00	\$22,000.00 \$22,000.00	01-28-23-13-0003
Edward M Conley 329 Summit Ave St Paul MN 55102-2119 *329 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL SWLY 20 FT OF LOT 7 AND NELY 20 FT OF LOT 8 BLK 73	Brick Pavers *** Owner and Taxpayer ***	100.00	40.00	\$4,000.00 \$4,000.00	01-28-23-13-0010
William P Muldoon 335 Summit Ave St Paul MN 55102-2119 *335 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL SWLY 40 FT OF LOT 8 AND NELY 20 FT OF LOT 9 BLK 73	Brick Pavers *** Owner and Taxpayer ***	100.00	60.00	\$6,000.00 \$6,000.00	01-28-23-13-0011
Melodie Ann Smith 339 Summit Ave Unit 2 Saint Paul MN 55102-2164 *339 SUMMIT AVE 1 *Ward: 1 *Pending as of: 1/15/2014	CONDOMINIUM NUMBER 235 CRAWFORD LIVINGSTON PLAZA UNIT NO.1	Brick Pavers *** Owner and Taxpayer ***	100.00	11.80	\$1,180.00 \$1,180.00	01-28-23-13-0143
Melodie Ann Smith 339 Summit Ave Unit 2 Saint Paul MN 55102-2164 *339 SUMMIT AVE 2	CONDOMINIUM NUMBER 235 CRAWFORD LIVINGSTON PLAZA UNIT NO.2	Brick Pavers *** Owner and Taxpayer ***	100.00	11.80	\$1,180.00 \$1,180.00	01-28-23-13-0144

12:26:13 8/18/2015	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 19153 Resolution #:	Assmt: 145203	Manager: LM	Page
Owner or Taxpayer	Property Description	Item Description	Unit	Rate Quantit	y Charge Amts	Property ID
Timothy J Ticcioni Jennifer J Neafus 339 Summit Ave #3 St Paul MN 55102-2164 *339 SUMMIT AVE 3 *Ward: 1 *Pending as of: 1/15/2014	CONDOMINIUM NUMBER 235 CRAWFORD LIVINGSTON PLAZA UNIT NO.3	Brick Pavers *** Owner and Taxpa		00.00 11.8	\$1,180.00 \$1,180.00	01-28-23-13-0145
Gregory A Bullard Po Box 192951 San Francisco CA 94119-2951 *339 SUMMIT AVE 4 *Ward: 1 *Pending as of: 1/15/2014	CONDOMINIUM NUMBER 235 CRAWFORD LIVINGSTON PLAZA UNIT NO.4	Brick Pavers *** Owner and Taxpa		00.00 11.8	\$1,180.00 \$1,180.00	01-28-23-13-0146
Jody L Mikasen 1 Bluebill Ave # 601 Naples FL 34108-1717 *339 SUMMIT AVE 5 *Ward: 1 *Pending as of: 1/15/2014	CONDOMINIUM NUMBER 235 CRAWFORD LIVINGSTON PLAZA UNIT NO.5	Brick Pavers *** Owner and Taxpa		00.00 11.8	\$1,180.00 \$1,180.00	01-28-23-13-0147
Laurel H Lein Eric M Lein 361 Summit Ave St Paul MN 55102-2168 *361 SUMMIT AVE	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL SWLY 45 FT OF LOT 12 AND NELY 1/2 OF LOT 13 BLK 74	Brick Pavers *** Owner and Taxpa		00.00 75.0	0 <u>\$7,500.00</u> \$7,500.00	01-28-23-13-0025

*Pending as of: 1/15/2014

StPaul_Assessment_Roll_Assessment_by_Address

12:26:13 8/18/2015	Public Improvement Assessment R R		ect: 19153 Assn lution#:	nt: 145203	Manager: LM	Page 7
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Earl C Joseph Holly J Joseph 365 Summit Ave St Paul MN 55102-2120 *365 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	E G ROGERS REARRANGEMENT PART OF LOT 2 DESC AS FOL COM AT NELY COR OF LOT 2 TH ALONG NWLY L THEREOF 8 FT TH SELY TO SELY COR OF LOT 2 TH TO PT OF BEG ALSO BEG AT NWLY COR OF THE ABOVE DESC	Brick Pavers *** Owner and Taxpayer *	100.00	56.00	\$5,600.00 \$5,600.00	01-28-23-13-0026
City Of St Paul 25 4th St W Rm 1000 St Paul MN 55102-1692 *375 SUMMIT AVE *Ward: 1 *Pending as of: 1/15/2014	E G ROGERS REARRANGEMENT EX A TRIANGLE IN NE COR MEASURING 4 FT ON NW L AND 6 FT ON NELY L PART OF LOT 2 SWLY OF A L RUN FROM A PT ON NWLY L AND 8 FT FROM NE COR TO SE COR OF LOT 2	Brick Pavers *** Owner and Taxpayer *	100.00	80.00	\$8,000.00 \$8,000.00	01-28-23-13-0027 ***EXEMPT***
Gerald E Manion 113 8th Avenue North Hopkins MN 55343-7312 *90 VIRGINIA ST *Ward: 1 *Pending as of: 1/15/2014	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL SUBJ TO ESMTS AND EX N 7 FT OF PART E OF W 55 FT LOT 11 BLK 73	Brick Pavers *** Owner and Taxpayer *	100.00	0.00	\$0.00	01-28-23-13-0015
	Previously assessed in assmt #000635 Improv. brick streets					
Lee T Egbert 76 Western Ave N Saint Paul MN 55102-2033 *76 WESTERN AVE N	DAYTON AND IRVINE'S ADDITION TO SAINT PAUL LOT 17 BLK 74	Brick Pavers *** Owner and Taxpayer *	100.00	58.00	\$5,800.00 \$5,800.00	01-28-23-13-0028

12:26:13 8/18/2015	Public Improvement Assessment Roll by Address		•	Assmt: 145203	Manager: LM	Page 8	
		Ratification Date:	Resolution #:				
Owner or Taxpayer	Property Description	Item Description	<u>Unit Ra</u>	te Quantity	Charge Amts	<u>Property ID</u>	
John J Bachman	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.100	Brick Pavers	100.	00 4.79	\$479.00	01-28-23-13-0252	
Beverly Bachman	CONDOMI UNIT NO.100				\$479.00		
80 Western Ave Unit 100 Saint Paul MN 55102-2597		*** Owner and Tax	payer ***				
*80 WESTERN AVE N 100							
*Ward: 1							
*Pending as of: 1/15/2014							
Clarence George Ochsner Jr	CIC NO 644 WESTERN ROW	Brick Pavers	100.	00 4.79	\$479.00	01-28-23-13-0253	
80 Western Ave N Unit 101	CONDOMI UNIT NO.101				\$479.00	V1 20 20 10 V200	
Saint Paul MN 55102-2597		*** Owner and Tax	payer ***				
*80 WESTERN AVE N 101							
*Ward: 1							
*Pending as of: 1/15/2014							
David A Chinnock	CIC NO 644 WESTERN ROW CONDOMI UNIT NO 102	Brick Pavers	100.0	00 4.79		01-28-23-13-0254	
Barbara J Chinnock 80 Western Ave N Unit 102		*** 0 1 T	ታ ታ ታ		\$479.00		
St Paul MN 55102-2099		*** Owner and Tax	payer ***				
*80 WESTERN AVE N 102							
*Ward: 1							
*Pending as of: 1/15/2014							
Bonni J Rodin	CIC NO 644 WESTERN ROW	Brick Pavers	100.	00 4.79	\$479.00	01-28-23-13-0255	
734 Summit Ave Unit 4	CONDOMI UNIT NO.103				\$479.00		
St Paul MN 55102-3482		*** Owner and Tax	payer ***				

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessment	ent Roll by Address Ratification Date:	Project: 19153 Assr Resolution #:	nt: 145203	Manager: LM	Page 9
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Molly A Meginnis 80 Western Ave N #105 St Paul MN 55102-2597 *80 WESTERN AVE N 105 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.105	Brick Pavers *** Owner and Tax	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0256
Harald E Borrmann Mary C Borrmann 80 Western Ave N # 106 Saint Paul MN 55102-2597 *80 WESTERN AVE N 106 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.106	Brick Pavers *** Owner and Tax	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0257
Pierrette J Albrecht 80 Western Ave N 107 Saint Paul MN 55102-2597 *80 WESTERN AVE N 107 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.107	Brick Pavers *** Owner and Tax	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0258
Charlotte L Sebastian Thomas A Renshaw 80 Western Ave N Unit 110 Saint Paul MN 55102-2597	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.110	Brick Pavers *** Owner and Tax	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0259

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessm	ent Roll by Address Ratification Date:	Project: 19153 Assn Resolution #:	nt: 145203	Manager: LM	Page 10
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
Samuel D Orbovich Cynthia D Orbovich 80 Western Ave N #201 St Paul MN 55102-2966 *80 WESTERN AVE N 201 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.201	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0261
Michael Galligan Karrie Dietz 1691 Buckingham Path Faribault MN 55021-7021 *80 WESTERN AVE N 202 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.202	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0262
James J Hall Susan G Hall 80 Western Ave N Unit 203 Saint Paul MN 55102-2966 *80 WESTERN AVE N 203 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.203	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0263
Ruth Revocable Trust 423 Fan Palm Ct Ne St Petersburg FL 33703-6206	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.204	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0264

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessment	ent Roll by Address Ratification Date:	Project: 19153 A Resolution #:	Assmt: 145203	Manager: LM	Page 11
Owner or Taxpayer	Property Description	Item Description	Unit Ra	te Quantity	Charge Amts	Property ID
Thomas L Smart Trustee Margaret R Smart Trustee 416 Lake St Winona MN 55987-3019 *80 WESTERN AVE N 205 *Ward: 1	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.205	Brick Pavers *** Owner and Tax	100.0 payer ***	0 4.79	\$479.00 \$479.00	01-28-23-13-0265
*Pending as of: 1/15/2014						***ESCROW***
Katharine I Tyndall 80 Western Ave N Unit 206 St Paul MN 55102-2966 *80 WESTERN AVE N 206 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.206	Brick Pavers *** Owner and Tax	100.0	00 4.79	\$479.00 \$479.00	01-28-23-13-0266
Don M Mason Sally M Mason 80 Western Ave N #207 St Paul MN 55102-2966 *80 WESTERN AVE N 207 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.207	Brick Pavers *** Owner and Tax	100.0	00 4.79	\$479.00 \$479.00	01-28-23-13-0267
Jeffrey D Soholt Paula M Soholt 80 Western Ave N #210 St Paul MN 55102-2966	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.210	Brick Pavers *** Owner and Tax	100.0	00 4.79	\$479.00 \$479.00	01-28-23-13-0268

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessm	ent Roll by Address Ratification Date:	Project: 19153 A Resolution #:	Assmt: 145203	Manager: LM	Page 12
Owner or Taxpayer	Property Description	Item Description	Unit Rat	e Quantity	Charge Amts	Property ID
Maren Mahowald 80 Western Ave #300	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.300	Brick Pavers	100.0	0 4.79	\$479.00 \$479.00	01-28-23-13-0269
Saint Paul MN 55102-2967 *80 WESTERN AVE N 300 *Ward: 1 *Pending as of: 1/15/2014		*** Owner and Taxpayer ***				
David L Grimsrud Joanne Grimsrud 80 Western Ave N #301 St Paul MN 55102-2967 *80 WESTERN AVE N 301 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.301	Brick Pavers *** Owner and Tax	100.0 payer ***	0 4.79	\$479.00 \$479.00	01-28-23-13-0270
Lange Family Properties Llc 209 E Main St Ste E Owatonna MN 55060-3072 *80 WESTERN AVE N 302 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.302	Brick Pavers *** Owner and Tax	100.0 payer ***	0 4.79	\$479.00 \$479.00	01-28-23-13-0271
Ann D Abbott Abbott 80 Western Ave #303 St Paul MN 55102-2967 *80 WESTERN AVE N 303 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.303	Brick Pavers *** Owner ***	100.0	0 4.79	\$479.00 \$479.00	01-28-23-13-0272
Bridget T Abbott 80 Western Ave #303 St Paul MN 55102-2967 *80 WESTERN AVE N 303	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.303	*** Taxpayer ***				01-28-23-13-0272

12:26:13 8/18/2015	Public Improvement Assessm	nent Roll by Address Ratification Date:	Project: 19153 Ass Resolution #:	mt: 145203	Manager: LM	Page 13
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Joan M Arbach Daniel A Arbach 80 Western Ave N #304 St Paul MN 55102-2967 *80 WESTERN AVE N 304 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.304	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0273
Wayne T Johnson Verlinda B Johnson 3021 Duke Of York Ct Chesapeake VA 23321-4509 *80 WESTERN AVE N 305 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.305	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0274
Bernard F Mcdonagh Trustee Bernard F Mcdonagh 80 Western Ave N Unit 306 Saint Paul MN 55102-2967 *80 WESTERN AVE N 306 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.306	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0275
Arthur And Hilde Erickson Lll 209 E Main St Ste D Owatonna MN 55060-3072	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.307	Brick Pavers *** Owner and Taxp	100.00 payer ***	4.79	\$479.00 \$479.00	01-28-23-13-0276

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessm		Project: 19153 Assn Resolution #:	nt: 145203	Manager: LM	Page 14
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
George Moffett Martha R Moffett 80 Western Ave North #310 St Paul MN 55102-2967 *80 WESTERN AVE N 310 *Ward: 1 *Pending as of: 1/15/2014	Units 310, G45 And G46	Brick Pavers *** Owner and Taxpay	100.00 er ***	4.79	\$479.00 \$479.00	01-28-23-13-0287
Douglas L Ogren Carol A Ogren 80 Western Ave Unit 400 St Paul MN 55102-2968 *80 WESTERN AVE N 400 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.400	Brick Pavers *** Owner and Taxpay	100.00 rer ***	4.79 :	\$479.00 \$479.00	01-28-23-13-0278
Marybeth Dorn Robert Behrens 80 Western Ave N #401 St Paul MN 55102-2968 *80 WESTERN AVE N 401 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.401	Brick Pavers *** Owner and Taxpay	100.00 er ***	4.79	\$479.00 \$479.00	01-28-23-13-0279
Timothy P Flaherty Mary S Flaherty 80 Western Ave N Unit 400 St Paul MN 55102-2968	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.402	Brick Pavers *** Owner and Taxpay	100.00 er ***	4.79	\$479.00 \$479.00	01-28-23-13-0280

*Ward: 1

12:26:13 8/18/2015	Public Improvement Assessm	ent Roll by Address Ratification Date:	Project: 19153 Assa Resolution #:	mt: 145203	Manager: LM	Page 15
Owner or Taxpayer	Property Description	Item Description	<u>Unit Rate</u>	Quantity	Charge Amts	Property ID
John Maccormick 80 Western Ave N Unit 403	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.403	Brick Pavers	100.00	4.79	\$479.00 \$479.00	01-28-23-13-0281
Saint Paul MN 55102-2968 *80 WESTERN AVE N 403 *Ward: 1 *Pending as of: 1/15/2014		*** Owner and Taxpa	ayer ***		ψ 1 77.00	
David Lawrence 80 Western Ave N Unit 405 Saint Paul MN 55102-2968 *80 WESTERN AVE N 405 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.405	Brick Pavers *** Owner and Taxpa	100.00 ayer ***	4.79	\$479.00 \$479.00	01-28-23-13-0282
Catherine F Jenny 80 Western Ave N Apt 406 Saint Paul MN 55102-2968 *80 WESTERN AVE N 406 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.406	Brick Pavers *** Owner and Taxpa	100.00 ayer ***	4.79	\$479.00 \$479.00	01-28-23-13-0283
Julie A Segler 80 Western Ave #407 St Paul MN 55102-2099 *80 WESTERN AVE N 407 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.407	Brick Pavers *** Owner and Taxpa	100.00 ayer ***	4.79	\$479.00 \$479.00	01-28-23-13-0284
David Andrews Theresa Andrews 80 Western Ave N Unit 410 Saint Paul MN 55102-2968 *80 WESTERN AVE N 410	CIC NO 644 WESTERN ROW CONDOMI UNIT NO.410	Brick Pavers *** Owner and Taxpa	100.00 ayer ***	4.79	\$479.00 \$479.00	01-28-23-13-0285

*Pending as of: 1/15/2014

StPaul_Assessment_Roll_Assessment_by_Address

12:26:13 8/18/2015	Public Improvement Assessmen	·	t: 19153 Assr tion #:	nt: 145203	Manager: LM	Page 1
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Linda Olup 80 Western Ave N Unit 200 Saint Paul MN 55102-2966 *80 WESTERN AVE N G37 *Ward: 1 *Pending as of: 1/15/2014	CIC NO 644 WESTERN ROW CONDOMI UNIT 200 & GARAGE UNITS G37 & G38	Brick Pavers *** Owner and Taxpayer ***	100.00	4.79	\$479.00 \$479.00	01-28-23-13-0286
Total Brick Pavers: Project Total:	\$142,685.00 \$142,685.00					
Less Total Discounts:	\$0.00	Residential Frontage Commercial Frontage		1,106.85 320.00	\$110,685.00 \$32,000.00	
Project Total:	\$142,685.00	Frontage Totals:		1,426.85	\$142,685.00	

1 Exempt Parcel(s)